

Proof of Theorem: Assume the bijection I exists. Then:

$$\begin{aligned} \sum_{\sigma \in G_n} q^{\text{inv}(\sigma)} &= \sum_{(a_1, \dots, a_n) \in T_n} q^{a_1 + \dots + a_n} = \sum_{a_1=0}^n \sum_{a_2=0}^{n-1} \dots \sum_{a_n=0}^0 q^{a_1 + a_2 + \dots + a_n} \\ &= \left(\sum_{a_1=0}^{n-1} q^{a_1} \right) \left(\sum_{a_2=0}^{n-2} q^{a_2} \right) \dots \left(\sum_{a_{n-1}=0}^1 q^{a_{n-1}} \right) \left(\sum_{a_n=0}^0 q^{a_n} \right) \\ &= (1+q+\dots+q^{n-1}) (1+q+\dots+q^{n-2}) \dots (1+q) \cdot (1) = [n]_q [n-1]_q \dots [1]_q = [n]_q! \end{aligned}$$

Distributive Law

§2: Building Inversion Tables: $|T_n| = |G_n| = n!$

Rather than building I , we construct its inverse bijection $I^{-1}: T_n \rightarrow G_n$.
 as an algorithm: We place each $\{n-i, \dots, n-i\}$ in a word $w^{(i)}$ of length i , locations dictated by elements in T_n .

- Input: $\underline{a} = (a_1, \dots, a_n) \in T_n = [0, n-1] \times [0, n-2] \times \dots \times [0, 0]$ ^{relative}
- Output: A permutation $\sigma = I^{-1}(\underline{a})$ in word format of length n .

• Start: $i=1$ $w^{(1)} = n$ ($a_n=0$...ALWAYS)
 • For $i=2, \dots, n$: create $w^{(i)}$ from $w^{(i-1)}$ by inserting $(n-i+1)$ into $w^{(i-1)}$ so that there are a_{n-i} elements in $w^{(i)}$ to the left of $(n-i+1)$.
 • Return: $w^{(n)}$

Example: $\underline{a} = (0, 3, 3, 3, 2, 1, 0) \in T_7$ $n=7$

$w^{(1)} = 7$
 $w^{(2)} = \underline{76}$ (1 element to the left of 6) [if $a_6=0$, then $w^{(2)}=67$]
 $w^{(3)} = \underline{765}$ (2 _____ of 5) [if $a_5=1$, then $w^{(3)}=756$]
 $w^{(4)} = \underline{7654}$ (3 _____ 4)
 $w^{(5)} = \underline{76534}$ (3 _____ 3)
 $w^{(6)} = \underline{765234}$ (3 _____ 2)
 $I^{-1}(\underline{a}) = w^{(7)} = \underline{1765234}$ (0 _____ 1)

Proposition 1: $I^{-1}: T_n \rightarrow G_n$ is a bijection

Proof: $|T_n| = |G_n| = n!$, so it's enough to prove the map is injective.

If $\underline{a} \neq \underline{b} \in T_n$ are different, then $a_i \neq b_i$ for some i . Pick i maximal with that property. Then $w_{\underline{a}}^{(i)} \neq w_{\underline{b}}^{(i)}$ since $(n-i+1)$ is placed in these 2 words in a different order relative to $n, n-1, \dots, n-i+1$. [Note: $i < n$ because $a_n = b_n = 0$]
 From this: $I^{-1}(\underline{a}) \neq I^{-1}(\underline{b})$. \square

Proposition 2: $\text{Inv}(\mathbb{I}^{-1}(\underline{a})) = a_1 + \dots + a_n$

Proof $\text{Inv}(\underbrace{\mathbb{I}^{-1}(\underline{a})}_{=\sigma}) = \#$ inversions of σ having 1 in 2nd position.
 $+ \#$ _____ 2 _____
 $+ \dots$
 $\#$ _____ n _____

j in 2nd position of an inversion means (k, j) with $p < p' \ \& \ k > j$
 So $\#$ inversions of σ with j in 2nd position is exactly the number of elements k to the left of j in σ with $k > j$.

This is the number of elements to the left of j in the partial word $w^{(n-j)}$
 [Write $j = n - i$ so $i = n - j$] This is $a_{n-(n-j)} = a_j$

So $\text{Inv}(\sigma) = a_1 + a_2 + \dots + a_n$ as we wanted. \square

Example above: $\underline{a} = (0, 3, 3, 3, 2, 1, 0) \in \mathbb{T}_7$ & $\sigma = \mathbb{I}^{-1}(\underline{a}) = 1 \ 7 \ 6 \ 5 \ 2 \ 3 \ 4 \in \mathbb{G}_7$

$a_1 = 0$	elements to the left of $1 = \sigma(1)$ that are larger than 1.	
$a_2 = 3$	_____ $2 = \sigma(5)$	2: 7, 6 & 5
$a_3 = 3$	_____ $3 = \sigma(6)$	3: 7, 6 & 5
$a_4 = 3$	_____ $4 = \sigma(7)$	4: 7, 6 & 5
$a_5 = 2$	_____ $5 = \sigma(4)$	5: 7 & 6
$a_6 = 1$	_____ $6 = \sigma(3)$	6: 7
$a_7 = 0$	_____ $7 = \sigma(2)$	7:

Another example: $\sigma = 2 \ 1 \ 3 \ 5 \ 4 \in \mathbb{G}_5 \xrightarrow{\mathbb{I}} \underline{a} = (1, 0, 0, 1, 0)$
 $\mathbb{I}^{-1}(\underline{a}) =: w^{(1)} = 5 \xrightarrow{(a_5=0)} w^{(2)} = 5 \ 4 \xrightarrow{(a_4=1)} w^{(3)} = 3 \ 5 \ 4 \xrightarrow{(a_3=0)} w^{(4)} = 2 \ 3 \ 5 \ 4 \xrightarrow{(a_2=0)} w^{(5)} = 2 \ 1 \ 3 \ 5 \ 4$
 (as expected!)